
 

ASSEMBLY INSTRUCTIONS 

 

Step 3 – The legs will need to be 

predrilled to attach the legs to                          

the table top with the 5/16” lag                                  

bolts.  Drill three holes through                             

the 2” x 2” runners and legs with a 

5/16” drill bit.  Do NOT drill through 

both 2” x 2” runners.  

If you get any scuffs or scratches on the table or seats, you 

can use a hand propane torch to touch them up by move very 

lightly over the area.  Do NOT leave the flame in one area for 

an extended period or it will burn. 

 

            Parts Included:           Hardware Included:         Tools Needed: 

       4 – 3/8” x 3” Stainless Steel Bolt            5/16” Drill Bit (6” or longer) 

        8 – 3/8” Stainless Steel Washers                   Power Drill or Screw Gun 

              4 – 3/8” Nylon Lock Nuts              

           28 – 5/16” x 6” Stainless Steel Lag Screws                          

        28 – 5/16” Stainless Steel Washers 

       Table Top (1)                    Table Seats (2)      

 

 
                   

          

   Walk Thru Legs (4)                    Leg Braces (2)      

   

  

   

 

 

 

 

 

 

 

 

 

 

 

 

 

  

8’ Walk Thru Table  

Build the table on a flat or level surface. 

Step 1 – Place the table on a flat, clean surface with 

the table top side down.  You may want to place 

cardboard underneath to help keep clean and 

prevent scratching the top.  Take the four Walk Thru 

Legs and place upside down in between the 2” x 2” 

runners attached to the table top.  Make sure to 

center the Walk Thru Legs with the table top. Shown 

Below along with Step 2.   

Step 2 – Attach the two Leg Braces to the four Walk 

Thru Legs using the pre-drilled holes.  Start with the 

outside legs, use a 3” bolt with a 3/8” washer 

through the predrilled hole, add another 3/8” 

washer on the other side of the bolt and a 3/8” 

nylon nut (the nut should be on the inside side of 

the leg).  Then attach the leg braces to the inner 

legs, use a 3 ½” bolt with a 3/8” washer through the 

predrilled holes, add another 3/8” washer on the 

other side of the                                                                         

bolt and a 3/8”                                                                                      

nylon nut.                                                                                    

Shown above                                                                    

and here. 

Only through one 2” x 2” 

runner and the leg! Screw the 

5/16” lag bolt with a 5/16” 

washer into each hole, 

attaching the legs to the table 

top.  Repeat this step with all 

four legs.  See photos. 

 
Step 4 – Flip the table over and place the seats on the table 

legs, make sure they are evenly spaced over the leg.  Repeat 

the Step above for predrilling holes (2 holes per leg for the 

seats) for each seat leg.  Then attach with 5/16” bolts and a 

5/16” washer for each hole location.  See Photos Below. 

 

Your Walk Thru Table is complete! 

 

 

 

 


